Homework 4: AE430, Aircraft Propulsion Systems
October 2, 2008
Due: October 9, 2008, beginning of class

Problem 1:   5.9.
Problem 2: 

Compare the specific fuel consumption of a turbojet and a ramjet which are being considered for flight at M=1.8 and 50,000 feet altitude (ambient conditions of pressure and temperature: 242 psf and -69.7 degrees Fahrenheit respectively). The turbojet pressure ratio is 8 and the maximum allowable temperature is 2000oR. For the ramjet the maximum temperature is 4000oR. For simplicity ignore aerodynamic losses in both engines. Conventional hydrocarbon fuels are to be used (heating value 18,000 Btu/lbm). Assume γ=1.4 and cp=0.24 Btu/lbmoR. 

Answers in SI units.


















